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Sample Paper – 2009

Class – XI


Subject – Mathematics(Code: 041/2)
Max. Marks: 100





Time : 3 hours
General Instructions :
1. All questions are compulsory.

2. The question paper consist of 29 questions divided into three sections A, B and C. Section A comprises of 10 questions of one mark each, section B comprises of 12 questions of four marks each and section C comprises of 07 questions of six marks each. 

3. All questions in Section A are to be answered in one word, one sentence or as per the exact requirement of the question.

4. There is no overall choice. However, internal choice has been provided in 04 questions of four marks each and 02 questions of six marks each. You have to attempt only one of the alternatives in all such questions.

5. Use of calculators is not permitted. You may ask for logarithmic tables, if required.

SECTION A
(Each question carries 1 mark each)

1. Find the modulus and argument of 
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2. Find the principal value of amplitude of 
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3. Solve 
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4. Show that 
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5. In how many ways can 6 persons stand in a queue?

6. Evaluate 
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7. Which term of the A.P. 
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 is purely imaginary?
8. Find the 10th term of the series 
[image: image7.wmf].

,.........

9

2

;

3

1

,

2

1

,

4

3

-

-


9. Which term of the G.P 
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is 64?
10. Find the number of terms in the expansion of 
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SECTION B

(Each question carries 4 marks each)
11. Find 3 numbers in G P whose sum is 38 and product is 1728

12. Solve the inequality : 
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Or


Solve the inequality : 
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13. Find the middle terms in the expansion of 
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14. Using PMI, show that 
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15. Solve the quadratic equation 
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Or

Find the real value of x and y for which
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16. Find the square root of 
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17. Solve 
[image: image17.wmf]1

3

3

5

+

<

-

x

x

 when
(i) x is a real number

(ii) x is an integer
(iii) x is a natural number
18. In how many ways can a cricket eleven be chosen from a batch of 15 players if
(i) There is no restriction on selection

(ii) A particular player is always chosen

(iii) A particular player is never chosen

Or

A candidate is required to answer 7 questions out of 12 questions which are divided into two parts each containing 6 questions. He is not permitted to attempt more than 5 questions from either part. In how many ways can he choose the 7 questions?

19. Show that the sum of (m+n)th and (m-n)th terms of an AP is equal to twice the mth term.

20. Prove that 
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21. If 
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 find the value of r.
22. Find a positive value of m for which the coefficient of x2 in the expansion of 
(1+x)m is 6.

Or


Compute (10.1)5 using binomial theorem
SECTION C

(Each question carries 6 marks each)

23. The sum of first four terms of a finite AP is 56. Sum of the last 4 terms is 112. If the first term is 11, find the number of terms in the A.P.

24. Solve the following quadratic equation:
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Or
(i) Find real value of 
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 such that 
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          (3½)
(ii) Find the conjugate of 
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25. Find the number of ways in which 5 boys and 5 girls can be seated in a row so that

(i) No two girls may sit together 

(ii) All girls sit together and all boys sit together

(iii) All girls are never together

26. Find the coefficient of 
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Find the relation between a and b so that these coefficients are equal.
27. Find the sum to n terms of the sequence 
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Or

If S be the sum, P be the product and R be the sum of the reciprocals of n terms of a GP, show that 
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28. Solve the following system of inequalities 
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   29.

(i) From 4 officers and  8 jawans in how many ways can 6 people be chosen 

a. To include exactly one officer 

b. To include at least one officer

(ii) If 
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 find the value of n
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